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RS common Second Revision Test - 2024
Standard 12
COMPUTER SCIENCE
_ um Marks: 70
Taree Allowed . 3,00 Hours taaxim
Part-~-1
Choose the correct answer: 15x1=15
1) The vacables in a function delimtion is called as )
3) Parameters b) variables - c) Definition d) Subroutines
2} Wihich keyvword is used to exit a function block?
a) define D) def <) return d) end
How many spaces does Indentation have in Python?
a) s h) 4 c) 3 cd) 6
3) What s the output of the following program?
setA = {3. 6, 9}
setB = {1, 3, 9} t]e
print{set A J setB) (se I set B>
a) {3, 9} B) 43,8, 9; 1,3, 9% c) {1, 3, 6, d) {1, 6}
5) in which arguments the correct positional order is passed to a function?
b) Required <) Keyword d) variable-length

6)

12)

i4)

15)

Ancwer any 6 questions. Q.No. 24 is compulsory:

16)
17)
:8)
19)
20)
21)

a) Default
Which of the following IS a string used to terminate lines produced by writer()

method of csv module?
a) Data Terminator b) Form Feed c) Enter Key d) unef Terminator

What is the positive subscript and negative subscript of the character 'N' in
the below string -+ strl = "Tamil Nadu".

3) 7, -3 b) 5, -4 c) 6, -3 d) 6, -4
What 1s the name of the data model developed by IBM?

a) Relational b) Hierarchical c) Network d) ER

The keys in python, dictionary is specified by

a) - b) ; ) + =

A framework for interfacing Python and C++ is

a) Ctypes b) SWIG ¢) Cython d) Boost
Which of the following are mandatory to write the type annotations in the
function definition?

ay { 3} b) () SN d) <>
wWhich symbol is used to print more than one item on a single line?

a) Semicolon (;) b)) Dollar ($) c) Comma (,) d) Colon (:)
A private class varniable is prefixed with

a) _ _ b) && c) ## d) =+
which statement is generally used as a placeholder?

a) continue b) break c) pass d) goto

= ___ is a type of chart which displays information as a series of data

points connected by Straight line segments.
a) tine chart b) Pie chart c) Bar chart d) All the above

Part - 1I
6x2=12
Define a function with respect to programming language.
Write the general categories of SQL commands.

What is algorithmic solution?

Define - Pass statement.

What is normaiization?

Write the syntax of While Loaop.
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22) What is the gifpronces t‘:i!!.wtw[\“zf}
2.."‘ hat (s the purposa of destrudls L+ python code?
= Pl the value of X in she fottowing PY*L
2d) What 1w 2BE Y- :
T Lista=f2. 3 611 1, S1

x=ten(sty) C Last 2

Part - 11X
Answer stions. Q.No. 33 (s t:ompu!sor?r: )
25) zz::t‘;:rg?‘:‘lh Concrete Data type and i;\il:;-’t:fl*it F:;:n“::g;:
26; yww Wil you accensts ey @lements in @ iat us Q .
27y write 3 note an Escapc “_;eqxw_fyce. ———
281 Write the Syntax of cav. writer() aJr\C’ ’:‘ i
29) what is strirng concatenation? Give € M:"nl Ud =
30) what are the applications of {‘-L‘F‘%f"#tlt"(]_‘ :l .q ¢
31) Explam the enclased scopc wetth n;e.v.atn linf;_b
3I2) Uist the types of visualization 10 Ma ;t)h 1. C_{)dc
33:3 wWrite the cutput of the folmmimg pythot £
str="Thinking with Pyihon
)] print{str{. ;3‘,).
1) prnt(str -41)
Ei) print{str{2 13})

Part - IV
Answer all the questions:
34) a) what is Binary search? Discuss with example.
. (OR)
b) Differentiate DBMS and RDBMS.

Y I IO R
TR Lo

| andg remove( ) runction in List?

stuia

5E5x5=25

35) a} How will you facilitate data abstraction? Explain it with suitable exampie.

(OR)
b) write in brief about SQLite and the steps used to use it,
X6) a) List out the Python Flle mode with its meaning whtle using csv.
(OR)

b) Write the syntax. Description with example of the following Built-in string

functions.

(V) tsdigit() (i) islower() (i) ord() (iv) chr() (v) title()

37) a) Explain the clauses in SQL.
(OR)
b) Explain the while loep with suitable example.
38) a) Explain the various buttons in a Matplotlib windows.
(OR)
b) What is the output of the following code.
class sampie:

um=0

def init {self, var):
sample.num-+=1
self. var=var SPJJ‘
print("The object value is=", var)

print("The count of object created=", sample.num)

si=sample(l1l5)
s2=sample(35)
s3=sample(45)
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